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void func (int i) {
i+=3; }
void main( ) {
inti=2;
func (i);
printf("%d\n", 1); }
A3 ®2 ©s5 M7
2. &4 int num|[3]{3}={1,2,3,4,5,6,7,8 9F FR F(Fnum+1)42); 45 &Y & FR{E (A ?
(A)3 B4 OS5 (D)6
3. TFHM—AAR KT & TUBRABEET 6 fLeg s ? (A) %6d  (B) %10.64 (C) %.6f
(D) %6.3f
4. AT #E K F do... while B2 #4TAX?
int n=0;
do {
if (n>5) break;
- on+=2;
} white(1);
A2 B3 (©4 D)5
5. TEEANITEREMT?
int are[10] = {5, 10, 15, 20, 25, 30, 35, 40, 45, 50};
int i, sum=20;
for(i=0;1<10; i+=2){
sum = sum + ari[i]; }
printf "sum=%d\n", sum);
A)145  B)125 (C)170 (D) 130

II. MZE#E (85%)
6. (20%) Consider the following page reference sting:
7,2,3,1,2,5,3,4,1,2,3
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Assuming demand paging with four frames, please show the process and answer how many page

faults would occur for the following replacement algorithms?

(All frames initially contain three pages number 1, 3, 2 (in order))
(a) FIFO replacement
(b) Optimal replacement
(c) LRU replacement
(d) Counting replacement with least frequently used
7 2 3 1 2 5 3 4 1 2 3

(5%) Consider a byte oriented _logical address space of 8 pages of 1024 bytes each, mapped onto a

physical memory of 32 frames.

(a) How many bits are there in the logical address?

(b) How many bits are there in the physical address?

(5%) Consider the two-dimensional array “A[100]{100]”. If a paged memory sysfem with pages of
size 200, for two page frames, how many page faults are generated by the following array--
initialization loops, using LRU replacement?
(@) for(inti=0 ;1< 100; i++)
{ for(intj=0;j<100;j++)
{ ALG] =053}
(b) for(intj =0 ; j <100; j++)
{ for(inti=0;1<100;i++)
{ A[lGI=0:}}

(10%) For sorting # objects, what are the best and worst running time (i.e., £2(.) and O(.)) of sorting
algorithms as below?

(a) bubble sort

(b) quick sort

(c) insertion sort
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(d) heap sort
(e) merge sort

10. (10%) FEH T wfE -1 o) — ML ETE (R4 B TEFFT)

(a) signed-magnitude (b) one’s complement (c) two’s complement (d) Excess-3
1. (5%) 2RSS NAEFOTERERE D EEAE MR T?

12. (5%) Given a program as follow:
Int main(void){
int array[4]={0};
int *p, i;
p=array;
array[0]=1;
p[0]=2;
*(Pt1)=3;
ot
*(pt2)=4;
*(p+3)=5;
p=array;
for(i=0;i<4;i++)
{ Printf(“array[%d]:%d, * (p+%d):%d\n” i,arcay[i],i,*(p+i));} }
‘What will show on the screen?

(98]

(15%) Suppose the following characters I, C, D, M, P, S, A, B, G, U, W, N, K, V are inserted into
an empty binary search tree 1-by-1. Let the result tree be called as 7.

(a) Please show tree T.

(b) Suppose we delete the root from tree T, and let the result tree be called 7. Please show tree 7",
(c) Please show the post-order traversal sequence of 7.

14. (10%) In a paging system, suppose that the hit ratio is 50% and it takes 10 ns to search the TL3
100 ns to access memory.

(a) What is the effective memory access time with single-level page table?

(b) What is the effective memory access time with two-level page tabie?




